Classify Triangles

Triangles are named by using its vertices.
For example, we can call the following mangle
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Two ways to Classify Triangles
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Find the measures of the sides of AABC
and classify the triangle by its sides.
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Opposite Sides and Angles

Opposite Sides:

/‘
Side opposite to ZA : 6(‘/
Side opposite to /B : K&
Side opposite to ZC : ﬁ%
Opposite Angles: Y
Angle oppositeto  BC : 4 A

Angle oppositeto AC: £ 6
\Angle oppositeto 48 : (", . /

rldentify the indicated type of
triangle in the figure.

A) lsosceles triangle

NABD, AweD

=> D B) Scalens friangle
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C) Rlght triangle
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Parts of an Isosceles Triangle

¢ An isosceles triangle is a triangle with two congruent
sides.

e The congruent sides are called legs and the third side is
called the base.

Leg Leg
Z1 andZ2 are base angles

43 is the vertex angle
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Isosceles Triangle Theorems

If two sides of a triangle are congruent, then the angles opposite
those sides are congruent. A

If AB=AC, then /B = £C. &
B c

Example: Find the value of x.

50+ XX = |80
Ptox =182
X, - A% = |50 J
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Find x and y.
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Find x and the measure of each \
side of the triangle.

AGH-J is isosceles; £G is the vertex angle;
GH=x+7,GJ=3x~5andHl=x-1
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Isosceles Triangle Theorems

If two angles of a triangle are congruent, then the sides opposite
those angles are congruent. A

IfZB=/C, then 4B = AC. &
B C

Example: Figd the value of x. _
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(Equilateral Triangles
- Corollaries-

= Atriangle is equilateral if and only if it is equiangular,
s Each angle of an equilateral triangle measures 60°.

/ Find x and the measure of each
side of the triangle.

A MPN is equilateral with MN = 3x -6,
MP =x+ 4, and NP = 2x -1.
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